

Established under West Bengal Act XXVI of 2007 & recognized by UGC U/S 2(f) & 12(B)
P.O. - Mokdumpur, Dist.: Malda, West Bengal, Pin -732103

Dr. Biswarup Sarkar M.Sc., Ph.D. Controller of Examinations



URL: <u>www.ugb.ac.in</u> Phone : (03512) 223668 Fax : (03512) 223668 E-mail: controller@ugb.ac.in

Date: 31/07/2025

Ref. No. 5 62/UGB/CE-2025

Revised Schedule for UG Semester II Examination 2025 (as per NEP-2020) for the Session 2024-2025 (Fresh) and Session 2023-2024 (Casual) & B.Voc. Semester II Examinations- 2025 (as per NEP-2020) (Session 2024-

2025) THEORETICAL PROGRAMME Minor Core course (Course code: MN- 201)

Date	Subject (1" Haif) Time: 11.00 A.M. to 1.00 PM	Subject (2 nd Half) Time: 2.00 P.M. to 4.00 P.M.	
13.08.2025 (Wednesday)	Geography, Philosophy, Mass Communication and Journalism, Chemistry, Sociology, Arabic, Sanskrit, Physics, Zoology, Education, Women Studies, Computer Science, Bengali, Hindi	History, Mathematics, Commerce, English, Home Science, Physical Education, Political Science, Defence Studies, Botany, Santail, Economics, Food & Nutrition, Urdu, NCC	

Multidisciplinary Course (Course code: MDC-201)

Date	Subject (1 st Half) Time: 11.00 A.M. to 1.00 PM	Subject (2 nd Half) Time: 2.00 P.M. to 4.00 P.M. History, Mathematics, Commerce, English, Physical Education, Political Science, Botany, Economics, Food & Nutrition, Urdu, Library and Information Studies	
14.08.2025 (Thursday)	Geography, Philosophy, Mass Communication and Journalism, Chemistry, Sociology, Arabic, Sanskrit, Physics, Zoology, Education, Computer Science, Bengali, Hindi		

Value addition Course (VAC-201)

Date -	Time: 11.00 A.M. to 12.00 Noon (Full Marks 25, MCQ Type)	Time: 1.00 P.M. to 2.00 P.M.(Full Marks 25, MCQ Type)	
18.08.2025 (Monday)	VAC 201.1: Business Communication VAC 201.2: Constitutional Law and Governance VAC 201.4: Women and Development	VAC 201.3: Media Ethics and Responsible Journalism VAC 201.5: India and It's Culture-I	

Ability Enhancement Compulsory (AEC- 2)

Date	Course Code (AEC-2)	Subject (1" Half) Time: 11.00 A.M. to 12.00 NOON (Full Marks 25, MCQ Type)	Subject (2 nd Haif) Time: 1.00 P.M. to 2.00 P.M.(Full Marks 25, MCQ Type)
19.08.2025	Bengali (BNGM-2)	Examinees with Major Subject - Group A	Examinees with Major Subject - Group 8
(Tuesday)	Hindi (HINM-2) / Urdu (URDM-2)	X	Examinees with Major Group A/ Group B

Major Core (Course Code: MJ- DC-201)

Date	Subject (1" Half) Time: 11.00 A.M. to 1.00 P.M.	Subject (2 [™] Haif) Time: 2.00 P.M. to 4.00 P.M.	
21.08.2025 (Thursday)	Major subject- Group A	Major subject- Group B	

Major Subject Groups

Group A	Philosophy, Chemistry, History, Mathematics, Commerce, Sanskrit, Education, Economics, Political Science, Computer Science, B.C.A., Geography		
Group B	Physics, Zoology, Bengall, English, Hindi, Botany, Sociology, Urdu, Food & Nutrition, Mass Communication & Journalism, Physical Education, Arabic		

Examinees shall have to appear at the examination in subjects and courses on the schedule date and time printed in their respective Admit Cards.

Dr. Biswarup Sarkar
Controller of Examinations
University of Gour Banga
Controller of Examinations
University of Gour Banga
Malda.

N.B.: Examinations for SEC and IAPWC will be conducted by the concerned college. Examinations for the Practical/non-theoretical courses to be completed by 10.09,2025.



Established under West Bengal Act XXVI of 2007 & recognized by UGC U/S 2(f) & 12(B)

NAAC accredited University with "B" Grade (2016)

P.O. - Mokdumpur, Dist.: Malda, West Bengal, Pin -732103

Dr. Biswarup Sarkar M.Sc., Ph.D. Controller of Examinations



URL: www.ugb.ac.in
Phone : (03512) 223668
Fax : (03512) 223668
E-mail: controller@ugb.ac.in

Ref. No. 563 /UGB/CE-2025

Date: 31/07/2025

Revised schedule for UG Semester-II Examinations-2025 (as per NEP-2020) (Session 2023-2024)

And B.Voc. Semester II Examinations- 2025 (as per NEP-2020) (Session 2023-2024)

THEORETICAL PROGRAMME

Minor Core course (MnC)

Date	Subject (1" Half) Time: 11.00 A.M. to 1.00 PM	Subject (2 rd Half) Time: 2.00 P.M. to 4.00 P.M.
13.08.2025 (Wednesday)	Geography, Philosophy, Mass Communication and Journalism, Chemistry, Sociology, Sanskrit, Arabic, Physics, Zoology, Urdu, Education, Women Studies, Computer Science, Hindi, Santali	History, Mathematics, English, Home Science, Economics, Botany, Physical Education, Political Science, NCC, Food & Nutrition, Defence Studies, Bengali, Commerce (Minor-2)

Multidisciplinary Course (MDC)

Date	Subject (1" Half) Time: 11.00 A.M. to 1.00 PM	Subject (2 nd Half) Time: 2.00 P.M. to 4.00 P.M.
14.08.2025 (Thursday)	MDC 2.1: Arabic Reading and Writing-II MDC2.2: বাংলা সাহিত্য ও চলচিত্র MDC2.3: Entrepreneurship Development and Start up MDC2.4: Gender Economics MDC2.7: History of Medieval Bengal (1206 A.D1757 A.D)	MDC2.5: Alternative Routes of knowledge: a Guide to Self- Education MDC2.6: Contemporary Environmental Issues MDC2.8: Understanding Gandhi and Ambedkar MDC2.9: Yoga Education MDC2.10: Introduction to Indian Philosophy

Value addition Course (VAC)

Date	Time: 11.00 A.M. to 12.00 Noon (Full Marks 25, MCQ Type)	Time: 1.00 P.M. to 2.00 P.M.(Full Marks 25, MCQ Type)
18.08.2025 (Monday)	VAC2.1: Business Communication VAC2.2: Constitutional Law and Governance VAC2.4: Women and Development	VAC2.3: Media Ethics and Responsible Journalism VAC2.5: India and It's Culture-I

Ability Enhancement Compulsory (AEC)

A Date	Course	1 st Half	2 nd Half: Time: 1.00 P.M. to 2.00 P.M. (Full Marks 25, MCQ Type)
19.08.2025 (Tuesday)	AEC-2 (Bengali/Hindi/Urdu)	X	Examinees with Major Subject - Group A & Group-B

Major Care (MiC) and Skill Enhancement Course (SEC)

Date	Course	Subject (1 st Half) Time: 11.00 A.M. to 1.00 PM	Subject (2 nd Half) Time: 2.00 P.M: to 4.00 P.M.
20.08.2025 (Wednesday)	мјс-3	Examinees with Major Subject - Group A & Group-B	×
21.08.2025 (Thursday)	MJC-4	Examinees with Major Subject - Group A & Group-B	X
22.08.2025 (Friday)	SEC-2	Examinees with Major Subject - Group A & Group-B	x

Major Subject Groups

	Geography, Philosophy, Chemistry, History, Mathematics, Commerce, English, Sanskrit, Education, Economics, Food & Nutrition,
	Mass Communication & Journalism
Group B	Physics, Zoology, Bengali, Hindi, Political Science, Botany, Sociology, Arabic, Urdu, Physical Education, Computer Science, B.C.A.

Examinees shall have to appear at the examination in subjects and courses on the schedule date and time printed in their respective Admit Cords.

Examinations for the Practical/non-theoretical courses to be completed by 10.09.2025.



Dr. Biswarup Sarkar
Controller of Examinations
University of Gour Banga
Controller of Examinations
University of Gour Banga
Malda.

Established under West Bengal Act XXVI of 2007 & recognized by UGC U/S 2(f) & 12(B)

NAAC accredited University with "B" Grade (2016)

P.O. - Mokdumpur, Dist.: Malda, West Bengal, Pin -732103

Dr. Biswarup Sarkar M.Sc., Ph.D. Controller of Examinations



URL: www.ugb.ac.in Phone : (03512) 223668 Fax : (03512) 223668

E-mail: controller@ugb.ac.in

Ref. No. 564/1/UGB/CE-2025

Date: 31/07/2025

Revised Schedule for B.A./ B.Sc./B.Com./B.C.A. Honours Semester-II Examinations-2025 (Under CBCS) (Back)

THEORETICAL PROGRAMME Generic Elective-II

Date	Subject (1" Half) Time: 11.00 A.M. to 1.00 PM (Full Marks 25/32)	Subject (2 nd Half) Time: 2.00 P.M. to 4.00 P.M. (Full Marks 25/32)
13.08.2025 (Wednesday)	Bengali, Computer Science, Hindi	Botany, Economics, Food & Nutrition, Urdu, Commerce (GE-2)
14.08.2025 (Thursday)	Chemistry, Arabic, Sanskrit, Sociology	History, Mathematics
18.08.2025 (Monday)	Philosophy, Physiology, Geography, Mass Communication and Journalism	English, Home Science, Physical Education
19.08.2025 (Tuesday)	Physics, Zoology, Women Studies, Education	Political Science, Defence Studies, NCC

Ability Enhancement Compulsory (AEC)

Date	Time: 11.00 A.M. to 12.00 NOON (Full Marks 40)
20.08.2025 (Wednesday)	AEC - MCQ Type (Communicative English/Communicative Bengali/Communicative Urdu/Communicative Hindi)

Discipline Core (DC)
Course (1st Half)

Date	Honours Course (1 st Half) Time: 11.00 A.M. to 1.00 PM (Full Marks 25/32)	Honours Course (2 nd Half) Time: 2.00 P.M. to 4.00 P.M. (Full Marks 25/32)
21.08.2025 (Thursday)	Discipline Core-3	Discipline Core-4

Examinees shall have to appear at the examination in subjects and papers on the schedule date and time printed in their respective Admit Cards.

(Dr. Biswarup Sarkar)
Controller of Examinations
University of Gour Banga
Controller of Examinations
University of Gour Banga
University of Gour Banga
Malda.

N.B.: Examinations for the Practical/non-theoretical courses to be completed by 10,09,2025.



Established under West Bengal Act XXVI of 2007 & recognized by UGC U/S 2(f) & 12(B)

NAAC accredited University with "B" Grade (2016)

P.O. - Mokdumpur, Dist.: Malda, West Bengal, Pin -732103

Dr. Biswarup Sarkar M.Sc., Ph.D. Controller of Examinations



URL: www.ugb.ac.in Phone : (03512) 223668

Fax : (03512) 223668

E-mail: controller@ugb.ac.in

Ref. No. 564/2 /UGB/CE-2025

Date: 31/07/2025

Revised Schedule for B.A. General Semester-II Examinations-2025 (Under CBCS) (Back)

THEORETICAL PROGRAMME

Discipline Core (DC) DC2 (A) & DC2 (B) for B.A. (General) (A & B are subjects)

Date	Subject (1st Half) Time: 11.00 A.M. to 1.00 PM (Full Marks 25/32)	Subject (2 nd Half) Time: 2.00 P.M. to 4.00 P.M. (Full Marks 25/32)
13.08.2025 (Wednesday)	Bengali, Computer Science, Hindi	Botany, Economics, Food & Nutrition, Urdu
14.08.2025 (Thursday)	Chemistry, Arabic, Sanskrit, Sociology	History, Mathematics
18.08.2025 (Monday)	Philosophy, Physiology, Geography, Mass Communication and Journalism	English, Home Science, Physical Education
19.08.2025 (Tuesday)	Physics, Zoology, Women Studies, Education	Political Science, Defence Studies, NCC

Ability Enhancement Compulsory (AEC)

Date	Time: 11.00 A.M. to 12.00 NOON (Full Marks 40)	
20.08.2025 (Wednesday) 1	AEC - MCQ Type (Communicative English/Communicative Bengali/Communicative Urdu/Communicative Hindi)	

Language Core Course (LC-2)

Date	Subject (1" Haif) Time: 11.00 A.M. to 1.00 P.M.	Subject (2 nd Haif) Time: 2.00 P.M. to 4.00 P.M. (Full Marks 40)
21.08.2025 (Thursday)	x	Bengali LC1-2/MIL-LC1-2

Examinees shall have to appear at the examination in subjects and papers on the schedule date and time printed in their respective Admit Cards.

(Dr. Biswarup Sarkar)
Controller of Examinations
University of Gour Banga
Controller of Examinations
University of Gour Banga
Malda.

D631/2035

N.B.: Examinations for the Practical/non-theoretical courses to be completed by 10.09.2025.





Established under West Bengal Act XXVI of 2007 & recognized by UGC U/S 2(f) & 12(B)

NAAC accredited University with "B" Grade (2016)

P.O. - Mokdumpur, Dist.: Malda, West Bengal, Pin -732103

Dr. Biswarup Sarkar M.Sc., Ph.D. Controller of Examinations



URL: www.ugb.ac.in
Phone : (03512) 223668
Fax : (03512) 223668
E-mail: controller@ugb.ac.in

Ref. No. 564/3 /UGB/CE-2025

Date: 31/07/2025

Revised Schedule for B.Sc./B.Com. General Semester-II Examinations-2025 (Under CBCS) [Back]

THEORETICAL PROGRAMME

Discipline Core (DC)

DC2 (A), DC2 (B) & DC2(C) for B.Sc. (General) (A, B & C are subjects)
DC3 (A), DC4 (B) & GE2 for B.Com. (General) (A & B are subjects)

Date	Subject (1st Half) Time: 11.00 A.M. to 1.00 PM (Full Marks 25/32)	Subject (2 nd Half) Time: 2.00 P.M. to 4.00 P.M. (Full Marks 25/32)
13.08.2025 (Wednesday)	Bengali, Computer Science, Hindi	Botany, Economics, Food & Nutrition, Urdu, Commerce (GE-2)
14.08.2025 (Thursday)	Chemistry, Arabic, Sanskrit, Sociology	History, Mathematics, Commerce (DC-3)
18.08.2025 (Monday)	Philosophy, Physiology, Geography, Mass Communication and Journalism	English, Home Science, Physical Education, Commerce (DC-4)
19.08.2025 (Tuesday)	Physics, Zoology, Women Studies, Education	Political Science, Defence Studies, NCC

Ability Enhancement Compulsory (AEC)

Date	Time: 11.00 A.M. to 12.00 NOON (Full Marks 40)
	AEC - MCQ Type
20.08.2025 (Wednesday)	(Communicative English/Communicative Bengali/Communicative Urdu/Communicative Hindi)

Examinees shall have to appear at the examination in subjects and papers on the schedule date and time printed in their respective Admit Cards.

(Dr. Biswarup Sarkar) Controller of Examinations University of Gour Banga

Controller of Examinations University of Gour Banga Malda.

N.B.: Examinations for the Practical/non-theoretical courses to be completed by 10.09.2025.

